H & 0l & AHS B Ml A

A= 0l0IEHER
Hu: Q1PN AR EX
AH=x<
=T

PN

cHRll QP EHAIG A (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
orIddg== 899,445,586 817,932,316 81,513,270
= 488,899,621
s 26,598,452
| 59,331,277
& 281,147,988
CH 43,468,248
QI HZH I} 42,585,318 5,885,866 36,699,452
= 19,750
T 897,320
CH 41,668,248
QIRF AL FE 695,430 1,220,426 A524,9%6
= 19,750
& 675,680
QIREH AL FX 695,430 1,220,426 Ab24,99%6
= 19,750
& 675,680
HEsI=AR 220124 499,000 974,000 A475,000
201 23| 200,000 200,000 0
01 ArR2eltl 200,000 200,000 0
[ Bt==2H| 200,000
OQREMEE A Q! 200,000
307 QI2Hol M 275,000 285,000 210,000
02 QIRHHAAIHE X 105,000 145,000 240,000
CI0IHMICHOI R W= 40,000
OSSO0 A SHSHF0IEN) 15,000
ONSAM=SHEDZ2ATHE A 50,000
04 CIZISHAIAIRIE X 170,000 140,000 30,000
OSAEAZEH=Z2H 40,000
OEsZ=sdEs0elg2dsidE 80,000
== D= PPN 50,000
308 AXIHMISO0I& 24,000 189,000 A165,000
01 AXIEHBLAEES 24,000 144,000 A 120,000
CIOLOIAZ OIS THS A 24,000
KNEMELSI=UE/AI XA 39,500 39,4% 4
= 19,750
= 19,750
307 QI2tol M 39,500 39,4% 4
= 19,750
T 19,750
02 QIHBAAIHE X 39,500 39,4% 4
XS MEAS=UERAIXZ ALY 39,500
= 19,750
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AR: 0f0/0IHE= I
MM 0IBAXX
el QFEAFA (St &)
A 2A - B . HA(SH) - MIRAIY - BES Ofl kel %E% Hlwsz2
OS2 ETL(YA2) 955,000
CH 955,000
OBS2Iol ot &, cuREst S S tomn T S AL (S E
=) 1,055,000
CH 1,055,000
O3 Y=0R2EH(HER) 955,000
CH 955,000
O=sgolsis0IS2HAH(LER) 1,655,000
] 1,655,000
O2MUEHE2S(EF2) 1,055,000
CH 1,055,000
OS2 E T N R L A (E5t2) 1,663,248
CH 1,663,248
CHICIOHE 2001 H= AR BERE (S
&22) 1,355,000
CH 1,355,000
O2E0HSH2FMEH(2ER) 1,355,000
CH 1,355,000
ZSEZZIA2IN0IESH(RLALEUHSIIS) 1,200,000 0 1,200,000
CH 1,200,000
308 AXIHMSOIH 1,200,000 0 1,200,000
CH 1,200,000
1 BI2SUHHEHE AR L EFALH] 1,200,000 0 1,200,000
OF=g223200I6HEY 1,200,000
CH 1,200,000
OIZAIEDIEZS 10, 109,600 130,000 9,979,600
= 109,600
CH 10,000,000
OIZAIEDIEEY 109,600 130,000 220,400
201 LB-2AY| 10,000 0 10,000
01 AtR2elt] 10,000 0 10,000
2ot=ZH| 2,800
O0I2ZAtEOIS =L 2ENZMES 2,800
O28=Y 7,200
OOIZMELISTLESERAI2E+ES 7,200
308 AHXIHMSOIH 99,600 130,000 230,400
01 AXSHHBLERS 99,600 130,000 A30,400
LI0I2ALEA YOS S 2RI A K& 99,600
OIZAIENISZ S (XEAZUHSIIZ) 10,000,000 0 10,000,000
CH 10,000,000
308 AXISHMSOIN 4,050,000 0 4,050,000
CH 4,050,000
01 XIXIEHHBAE LS 4,050,000 0 4,050,000
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H & 0l & AHS B Ml A

A= OIldeE== £AM : OFOIAI&HXI 2 1t
g Ol=ss=sEH
Chel: SSMHIAXIR (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
OLO[ Ml & XI& 1t 785,914,719 746,179,960 39,734,759
= 484,100,738
s 24,898,452
| 15,157,089
= 259,958,440
CH 1,800,000
t===EH 56,364,244 38,478,074 17,886, 170
= 35,582,8%
s 3,868,241
Il 962,000
= 14,151,107
CH 1,800,000
SSMUIAXIA 56,364,244 38,478,074 17,886,170
= 35,582,8%
s 3,868,241
| 962,000
= 14,151,107
CH 1,800,000
OlOISSXIAASE(E) 595,324 586,666 8,658
= 297,662
& 297,662
307 212t01 & 595,324 586,666 8,658
= 297,662
= 297,662
1 ARRI=SXAIEE X 595,324 586,666 8,658
OO0l SS XA S Z2ANE |2 (KIJAME)
23X 595,324
= 297,662
= 297,662
otolEEE(AIZ) 32,033,371 25,853,819 6,179,552
= 28,384,000
= 3,649,371
308 KXIHMSOIH 32,033,371 25,853,819 6,179,552
= 28,384,000
T 3,649,371
01 AXSHHELEELS 32,033,371 25,853,819 6,179,552
ColEss+<(AlT) 32,033,371
= 28,384,000
s 3,649,371
OloISSMEIAZEI(AlIZ) 7,766,829 0 7,766,829
= 6,882,000
= 884,829
308 REXIHMSOIH 7,766,829 0 7,766,829




2= Ol Egds= £A OOl A& X2
B OlsEsE
&el: SSAMHIAXIE (SH9 H2)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
= 6,882,000
=S 884,829
01 XN B2 LS 7,766,829 0 7,766,829
dotolssMbIA 22l (AlIZ) 7,766,829
= 6,882,000
< 884,829
Z=E00IESXE 6,666,400 6,240,000 426,400
308 AtXIEHMSOIE 6,666,400 6,240,000 426,400
01 X SHHBAEXS 6,666,400 6,240,000 426,400
LI =SSRE2EE823Z 6,666,400
oI E00IS20IXI& 66,600 50,400 16,200
308 XXM SOIA 66,600 50,400 16,200
01 AXH B2 LS 66,600 50,400 16,200
US ot E0t0I==20IXI2 66,600
SS=S0LIsH2S X 72,000 72,000 0
308 AHXIEMSOIH 72,000 72,000
01 XN BSELES 72,000 72,000
O3SS0UsH2SXE (FEH) 72,000
SSSUH=EH=2S 1,201,850 1,087,324 114,526
Il 924,500
= 277,350
308 AFRIEHMSOIE 1,201,850 1,087,324 114,526
Jl 924,500
= 277,350
01 AXH B2 LS 1,201,850 1,087,324 114,526
U3ss0tU=sE2Y 1,201,850
Il 924,500
s 277,350
S=3SHAA 48,750 0 48,750
Jl 37,500
= 11,250
308 AFAIEHMSOIE 48,750 0 48,750
Il 37,500
= 11,250
01 AXEHBEES 48,750 0 48,750
U=s3SHAE 48,750
Jl 37,500
= 11,250
B =i=tukal: [N 3,308,500 1,829,144 1,479,35%
= 2,545,000
[ 763,500
308 AXIHS0IA 3,308,500 1,829,144 1,479,356




D oIEdE=
D ot==SEH

£A  OlOIAl &t XI&

. SSMHIAXH (SH9 H2)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2

rag 2,545,000
T 763,500

01 AIXISHNBAEES 3,308,500 1,829,144 1,479,356
oIS S AHBI XN (ZEEH]) 3,308,500
s 2,545,000
= 763,500

=29 X3 540,800 122,460 418,340
= 416,000
& 124,800

308 AXISHMSOIH 540,800 122,460 418,340
= 416,000
& 124,800

01 AIXISHNBAEERZ 540,800 122,460 418,340
L0 S=S=2H2YHIN(ZEEH]) 540,800
g 416,000
T 124,800

I =S & XIHI X3 682,500 1,312,500 630,000
= 585,000
= 97,500

403 RtXIHASA=0|H 682,500 1,312,500 630,000
= 585,000
& 97,500

01 XEXISHI =22 & 682,500 1,312,500 2A\630,000
02 =SHE R8I K& (FEEh]) 682,500
g 585,000
& 97,500

CHetNsSE4XIHIXI| (=28 sl 336,000 50,000 286,000
iy 300,000
= 36,000

403 RIXISHHS K201 & 336,000 50,000 286,000
Fay 300,000
== 36,000

01 AXISHHA2E X 336,000 50,000 286,000
OoIS=SSHAEXHIXA(=BEs) (FEXHI) 336,000
= 300,000
& 36,000

CIEH=SESSGAIZTA ST A B AL CIAH| X & 21,438 14,495 6,943
g 16,491
T 4,947

308 AHXIHHMSOIH 21,438 14,495 6,943
s 16,491
= 4,947

01 AXISHNEAERZ 21,438 14,495 6,943




AR: 01008 3=
Hu: OSSN

£A  OlOIAl &t XI&

;F?_—ii SSMHIAXIA (SH9 H2)
- 2N B GRAEH)  ARAY - BES ol &4 e HIDEY
LOISESSE2IEA AT A AIH I2AHI X
HA(2ESY 21,438
= 16,491
< 4,947
CIEN=S2SAIAZAEAIE2SE8IX2 7,475 1,950 5,525
[ 5,750
== 1,725
308 KXIEHMSO0IS 7,475 1,950 5,525
s 5,750
= 1,725
01 RSN B E2ES 7,475 1,950 5,525
(OIS SEESSAVATAIHAIL 2G|
A(2ESY) 7,475
= 5,750
< 1,725
CIEtHES (8t n-XIAHE 2 29) o1 48| XA 30,438 161,286 130,848
= 13,234
== 17,204
308 AHXIHMSO0IA 30,438 161,286 130,848
= 13,234
= 17,204
01 HXSHH B EES 30,438 161,286 130,848
OGEHES=S(S8D-AAME L2 )21 X
2 30,438
= 13,234
= 17,204
CIEtHEs (8t n-XAHE L 24) 2G| K& 13,800 78,000 264,200
= 6,000
= 7,800
308 AXIHMSO0IA 13,800 78,000 A64,200
= 6,000
= 7,800
01 RSN EES 13,800 78,000 A64,200
OGENEs=s(8n-AAMEL 2 ) 2G|
2 13,800
= 6,000
S 7,800
OI=SSSH2EXE 1,031,867 888,030 143,837
308 AHAIEMSOIE 1,031,867 888,030 143,837
01 X SHHBAEXS 1,031,867 888,030 143,837
Oots=sHeEdsI# 1,031,867
FSEISLEXNANS AL (NSABUHEIIS) 300,000 0 300,000
CH 300,000
307 212+01™ 300,000 0 300,000




D oIEdE= £A  OlOIAl &t XI&
D ot==SEH

D SSAEIAXE (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
CH 300,000
11 AL =SXAMEES 300,000 0 300,000
JESEZROILESAUBAIZREALS 300,000
CH 300,000
OtZ0toII=S=3XI&A 140,302 0 140,302
307 QI2tol ™ 100,000 0 100,000
11 AL =SXAMSEES 100,000 0 100,000
CIOLE0t0I2l =SS A (FRIE ) 100,000
308 AXIEHMSOIN 40,302 0 40,302
01 AXESHHZAEEZ 40,302 0 40,302
CIOEOH0 | S SHH2 Y (F2UEG) 40,302
ZEEHO0ISESIMS (KL ALHUSIIS) 1,500,000 0 1,500,000
CH 1,500,000
308 AXISHMSO0IA 400,000 0 400,000
CH 400,000
1 SI 2SI E AR L E AL 400,000 0 400,000
OZ=E00I=sEE2 08 XA 400,000
CH 400,000
403 XX SHHSKHE01 A 1,100,000 0 1,100,000
CH 1,100,000
02 ST 2 SOHE A= RIEFAIS I 1,100,000 0 1,100,000
JE=Sgo0l=s=E2el =2tk A 1,100,000
CH 1,100,000
EF0tsHYSE 528,708,553 493,030,091 35,678,462
= 330,541,294
| 4,859,000
& 193,308,259
SFEMEIAXIA 526,459,750 488,640,218 37,819,532
= 329,312,984
J| 4,859,000
= 192,287,766
ST MK XA 9,320 9,320 0
201 Ler2 | 5,000 5,000
01 At 22|l 5,000 5,000
=R =y 5,000
OESHYUAAS =LY 5,000
203 RF=&H| 4,320 4,320
03 Al Z=ZIHSZ=XY| 4,320 4,320
CIOIOI NI A XI R AI S R =&Y 4,320
ESRI3RAAL 7,315 7,200 115
201 2| 7,100 7,000 100
01 At 22|l 7,100 7,000 100




D oIEdE=

G =TSN

S CSwT

£A  OlOIAl &t XI&

?l: BFMHIAXH (SH9 H2)
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t e B2

Ll et==2H] 7,100
OESYIRIHEMES 3,600
OS3E 0| SIHM = 3,500

303 Zat= 215 200 15

01 Z&3 215 200 15
[E2ESRSSFIANY 215

(GETUESIMECRRI PN 132,000 154,800 222,800
= 66,000
= 66,000

307 QI2tol M 132,000 154,800 222,800
= 66,000
L= 66,000

1 ARRI=SXAIEE X 132,000 154,800 A22,800
WG ESImE P PN 132,000
= 66,000
= 66,000

HEOIE M L ALKIR () 2,580,480 2,580,480 0
= 1,290,240
= 1,290,240

307 QI2H0l A 2,580,480 2,580,480 0
= 1,290,240
= 1,290,240

ARSI =XAIEE X 2,580,480 2,580,480 0
CJHE Ol & THAI ALK& 2,580,480
= 1,290,240
L= 1,290,240

EFUWAAAHIXZ 68,710,691 67,122,590 1,588,101
= 47,212,000
s 21,498,691

308 KEXIHMSOIH 68,710,691 67,122,590 1,588,101
= 47,212,000
= 21,498,691

01 XN ELS 68,710,691 67,122,590 1,588,101
OE2SWUAACIAHIXIA 68,710,691
= 47,212,000
L= 21,498,691

GEUESIEESMNIN R 30,488,388 0 30,488,388
= 20,918,760
= 9,569,628

308 AXIHMISO0I& 30,488,383 0 30,488,388
= 20,918,760
= 9,569,628




= O0IHdeE==
M HS0I=HI=

&

S CSwT

cHel ExAHIAXRA

£A  OlOIAl &t XI&

AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2

01 AIXSHNBAEES 30,488,383 0 30,488,383
WG ESE=ESMUNINEE] 30,488,383
= 20,918,760
= 9,569,628

EENINAY LN 19,592,763 50,247,490 N30,654,727
= 13,528,000
& 6,064,763

308 AXISHHSOIA 19,592,763 50,247,490 N30,654,727
= 13,528,000
& 6,064,763

01 AXISHNEAEEXZ 19,592,763 50,247,490 N30,654,727
2SI A™MIHA 19,592,763
= 13,528,000
T 6,064,763

Helol & 2g X3 2,263,480 2,313,049 A49,569
= 1,563,000
= 700,480

308 AXIHHSOIA 2,263,480 2,313,049 49,569
= 1,563,000
& 700,480

01 AXISHNEAEXZ 2,263,480 2,313,049 49,569
OHe0I&82g XA 2,263,480
= 1,563,000
& 700,480

gRoIE=E=2 X 188,862,637 204,149,7% A15,287,159
= 153,428,000
= 35,434,637

308 AtX|SHAMSOIH 188,862,637 204,149,79% A 15,287,159
= 153,428,000
== 35,434,637

01 AIXHMENEEZ 188,862,637 204,149,7% 15,287,159
Odgsotegs A& 188,862,637
= 153,428,000
& 35,434,637

2230 (o)X 101,215,232 23,217,640 77,997,592
= 81,837,000
T 19,328,232

308 AHXIHHMSOIH 101,215,232 23,217,640 77,997,592
= 81,837,000
= 19,328,232

01 AXISHNEAERZ 101,215,232 23,217,640 77,997,592
OR230 (G0t X 101,215,232
= 81,837,000




X XH - _b‘l_%qOI.E__,.L]OI

2 o0l aaE SA : OHOIMIAXIRI Dt

&

S CSwT

&el: EFAHIAXIE (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
| & 19,328,232
rEgsLUTd 10, 190,802 29,447,699 19,256,897
= 8,253,984
= 1,986,818
308 XEXIEHHISOI& 10, 190,802 29,447,699 19,256,897
= 8,253,984
= 1,986,818
R E RS 10, 190,802 29,447,699 £19,256,897
DRSS+ 10, 190,802
2 8,253,984
= 1,986,818
SREH L3 109,200 84,200 25,000
307 QI2HOI & 69,200 69,200 0
11 A= XA 2 E 69,200 69,200 0
CIOTRI0I HEHRIAF S RI & 55,200
ORI o SEZ208 14,000
308 XiXIHHISOI& 40,000 15,000 25,000
R E RS 40,000 15,000 25,000
mEE 40,000
ERNAAAUAST 4,584,7% 4,800,780 A215,984
308 XIXIEHHISOI & 4,584,796 4,800,780 A215,984
PN EREESS 4,584,7% 4,800,780 ~215,984
mEEmE RS = e 4,497,120
DROIESDAASHLL |2 87,676
SOISE NI AHIE 243 407,230 410,730 A3,500
307 212+01 % 407,230 410,730 A3,500
11 ARSI S XA 2 E 407,230 410,730 £3,500
EEE RIS E=n 306,730
DSOS AALE AR X 100,500
Fot2 R e M5 81,531,767 90,207,909 18,676,142
308 XX EHHI SO & 81,531,767 90,207,909 18,676,142
P EPNEESS 81,531,767 90,207,909 18,676, 142
O2K0ISS 2| 2,062,200
101201 & RH2 R X 53, 100
1012101 & Z OOt S XI & 28,260
CICHE 31012101 & 2 | 76,464
Clof2lol Y 2N I Xl 252,593
OS4+2|AI&IIARI 2] 188, 191
BIVEESIIESE L] 49,313
O2S0Is 4 nSHIX 2 104,402
CI012l01 & ZoteHe gt X2 2,514,000
Cei-she RS 2Ie 3,018,144




D oIEdE=

G =TSN

S CSwT

D EFAUIAXA

£A  OlOIAl &t XI&

(ehol:®el)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2

sc2lurE 73,155,460
JgnsEEsz 29,640

FRELIHEHZY 54,600 67,600 13,000
= 42,000
& 12,600

308 AXISHMSOIN 54,600 67,600 13,000
= 42,000
& 12,600

01 IXSHHBLNEXS 54,600 67,600 A13,000
ORL2L2LIHEH2IXA 54,600
= 42,000
= 12,600

ANZHHIESAIE 20| 22 79,810 76,930 2,880
= 39,905
& 39,905

307 gI2tol ™ 79,810 76,930 2,880
= 39,905
& 39,905

10 MG SXAIEHE2ZHIEX 79,810 76,930 2,880
OAIZEHIESAtE 220|223 79,810
= 39,905
& 39,905

ANZHRIES K& 1,396,325 1,442,39% A46,071
= 1,074,095
= 322,230

308 AXIHMSOIH 1,396,325 1,442,3% A46,071
= 1,074,095
& 322,230

01 XIXIEHHBAE LS 1,396,325 1,442,3%6 A46,071
COAIZERIE =K 1,396,325
= 1,074,095
& 322,230

ANZEHIESHEI |2 Zet2 =X 13,000 0 13,000
= 10,000
= 3,000

403 XIS MSAHE01 A 13,000 0 13,000
= 10,000
= 3,000

01 X SHH =2 E xR 13,000 0 13,000
OAIZIHESHSI | 2ol Tt =X 13,000
= 10,000
& 3,000

OelolgesEXIa(s3I2) 5,274,614 4,858,597 416,017




ool dd=E= A OtOIAIAXIR 1t
2 OI=X|

F0tsHASH

SFMHIAXIA (SH9 H2)
2. 24 - BB O9(30) - HRAY - BAS ol b e HlmS2
Il 4,859,000
[ 415,614
308 XHXIEHHISOI & 5,274,614 4,858,597 416,017
bJ 4,859,000
S 415,614
01 IRISHZBAEES 5,274,614 4,858,597 416,017
EEE=ELETEEIE)) 5,274,614
p 4,859,000
< 415,614
ZZEHOIRI0IE (-1 H DB ALY 6,996,000 6,628,004 367,9%
308 XHXIEHHISOI & 6,996,000 6,628,004 367,9%
01 RSP AEES 6,996,000 6,628,004 367,9%
(22 S0I2I01& X2 (FLIR01) 6,996,000
CROISE L ME 2 (- 12 B EALY) 803,000 685,608 117,39
307 I2H0I & 803,000 685,608 117,392
10 ABISXIAEYE 29 2 X 803,000 685,608 117,32
OSSN AMEHSY 803,000
NZ-SOISE K MEI 2SS (2-1EHH B BIALY) 160,300 127,400 32,900
308 KXIEHAISOIH 160,300 127,400 32,900
01 XX SHHZAEES 160,300 127,400 32,900
DA SOHESNIME 2 160,300
2AAIAIREH 2 SAIE AR 36,000 0 36,000
308 RXISHHISOIA 36,000 0 36,000
01 RSP AEES 36,000 0 36,000
CI24AIAIEHI 2 S A AN 2RI 2 (21 A0
) 36,000
O2I0IFELHHIXY 519,000 0 519,000
308 XHXIEHHISOIE 519,000 0 519,000
01 IS ZBAEES 519,000 0 519,000
CJO2I0IEZ QAN (=01E0) 519,000
SOHESHYNAES DA 441,000 0 441,000
308 XHXIEHHISOI & 441,000 0 441,000
01 XX SHIZAEES 441,000 0 441,000
OsHESHANA0RI0EZSDEAXH 441,000
SENEEER T 2,248,803 4,389,873 22,141,070
= 1,228,310
[ 1,020,493
CEIESES= 1,405,703 3,064,373 21,648,670
=2 1,081,310
S 324,393
403 REXISHH S XH201 A 1,405,703 3,054,373 21,648,670
2 1,081,310




= O0IHdeE== £AM : OFOIAI&HXI 2 1t
M BR0tsHUYSH
el oilolZeEone (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 324,393
01 REXISHHI A= 2 & 1,405,703 3,064,373 A 1,648,670
e 0l &&= A 1,405,703
= 1,081,310
& 324,393
elol&erZ e 191,100 279,500 288,400
= 147,000
= 44,100
403 XX SHHMSK=01H 191,100 279,500 288,400
= 147,000
& 44,100
01 AR AH22 £ 191,100 279,500 A\88,400
WG IS ESEE Ry Pl 191,100
= 147,000
& 44,100
SERI =23t 652,000 756,000 A104,000
308 AXIHMSO0I& 612,000 576,000 36,000
01 AXIEHBLAEES 612,000 576,000 36,000
OEH2AEAA22S 612,000
403 XX SHHSK=01A 40,000 180,000 A140,000
01 MXIStH 22 £ 40,000 180,000 A140,000
OEH2ZEA2AX 40,000
HEEHOIESESEYES 178,029,506 178,978,510 A949,004
= 116,907,972
s 20,978,051
| 1,595,200
= 38,548,283
IHEAEL 2N 2,383,768 1,843,457 540,311
= 273,146
& 2,110,622
FHAHNSOISHESH 2,006,495 1,574,184 432,311
307 QI2Hol M 1,110,677 1,090,080 20,597
10 AlSISXAEHE2EHIEX 1,050,437 1,029,840 20,597
[(PDIHEKAEY XN ZY 1,050,437
M ARRI=SXAIEE X 60,240 60,240 0
SRS XA EHSAA S 30,240
OZADHE ISR 30,000
308 REXISHMSOIH 895,818 484,104 411,714
01 AXIEHELAERS 8%,818 484,104 411,714
(OSSN 298,440
COF S AHSOtS X 51,378
OXEEHIEENE EHE S 546,000




A= OIldeE== £AM : OFOIAI&HXI 2 1t
M AFOI=s=SHLES
el DbEoIEt YR @l (crol: M el)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
IHHEAE OS2 E S XA 52,609 52,609 0
= 36,826
= 15,783
307 QI2Hol M 52,609 52,609 0
= 36,826
& 15,783
06 283 52,609 52,609 0
OIERIEOtsAHEE 2 X& 52,609
= 36,826
& 15,783
LLUINEAE OIS AL XIS XA 48,6064 48,664 0
= 43,120
= 5,544
308 AHXIHMSOI & 48,6064 48,6064 0
= 43,120
& 5,544
01 AXIEHELAExS 48,664 48,664 0
O ItEIEotsAeIXIZ X 48,664
= 43,120
& 5,544
MEIIEAENZ0tSESHIXIR 276,000 168,000 108,000
= 193,200
& 82,800
307 QI2HO| M 276,000 168,000 108,000
= 193,200
& 82,800
" ASI=SXAIEEE 276,000 168,000 108,000
O8EINE/AEEZ20tsESHIXA 276,000
= 193,200
T 82,800
Otsde - =XS8d 164,190,812 166,769,515 A2,578,703
= 113,636,960
= 19,564,291
& 30,989,561
SER0ts=2E4s X 365,000 365,000
307 QI2Hol 365,000 365,000
10 AlRISEXAEHE2EHIEX 315,000 315,000
OZAI | 22HXE 315,000
11 Al =XAMEES 50,000 50,000 0
OSMIERANIZMEANL2I XA 50,000
OtsHASHYLANMSS 237,080 240,080 A3,000
201 Let23| 62,080 65,080 A3,000




A= O == A OtOIAIAXIR 1t
BH: ANBOISSAUDS
tels ofsdEY - SXNEH (SH9 H2)
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
01 ArR2eltl 62,080 65,080 A3,000
[ et==H| 5,000
O0t=s=EXgE-3 5,000
=R =y 57,080
OO0ts=EX A =Z LIS 7,080
Oot==XsdseE 50,000
307 212+01 A 175,000 175,000
11 AL SXAMEES 175,000 175,000
S0 MU XU AL 25,000
Ooelolgolgal 80,000
OZ=Hel0Ig22tX] 70,000
PNE=PAEPN=ls] 410,447 458,128 A47,681
= 309,157
= 101,290
307 212+01 ™ 410,447 458,128 A47,681
= 309,157
= 101,290
11 AL =SXAMEES 410,447 458,128 A47,681
IR X2 A I 410,447
= 309,157
& 101,290
JNI=PNE=PSR=gel =1 DN 331,662 0 331,662
= 258,929
= 72,733
307 2I2+01 A 331,662 0 331,662
= 258,929
= 72,733
11 Al SXAMEES 331,662 0 331,662
IPNR=PNEFSE=geli=1i| DN 331,662
= 258,929
= 72,733
S|AUCIH =AY 450,700 450,700
307 gI2tol ™ 450,700 450,700
11 AMSISXAEEX 450,700 450,700
OXE XSS | 2SAR =S 19,600
sl CIgSAg2S 431,100
2SER0IsNHE NS 2,518,080 1,826,640 691,440
= 2,342,400
= 175,680
308 AHXIHMSOIH 2,518,080 1,826,640 691,440
= 2,342,400
& 175,680




2= ol Egds= £A OOl A& X2
Hm: AMBOIESSHUES
el Ols3dy - SXSd (SH9 H2)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
01 XN B2 LS 2,518,080 1,826,640 691,440
OEsSzs0tshE=gX& 2,518,080
= 2,342,400
< 175,680
OS2 E XA 3,739,643 4,323,207 A\583,564
= 3,313,608
= 426,035
308 AFRIEHMSOIE 3,739,643 4,323,207 A\583,564
= 3,313,608
= 426,035
01 AXH B2 LS 3,739,643 4,323,207 A\583,564
HotsS2E XA XX 3,739,643
= 3,313,608
s 426,035
2 0ts24 AN 12,427,676 10,906,714 1,520,962
308 AXIHS0IA 12,427,676 10,906,714 1,520,962
01 HAHHBSEEXS 12,427,676 10,906,714 1,520,962
eI sEssLESA 8,392,680
LgsssS4 1,797,984
XS 0tsHESSA X 2,237,012
Ots =X W AHIFA K| & 2,320,286 2,251,062 69,224
= 1,784,835
< 535,451
308 AIXIHHISOIA 2,320,286 2,251,062 69,224
= 1,784,835
& 535,451
01 HASHHBSEXS 2,320,286 2,251,062 69,224
COtsSSXLUATARNH (ST 2,320,286
[ 1,784,835
= 535,451
CEEHAEEMY 4,860,840 4,836,537 24,303
s 4,521,712
s 339,128
308 AtXIEMSOIH 4,860,840 4,836,537 24,303
= 4,521,712
[ 339,128
01 HAHHBAEES 4,860,840 4,836,537 24,303
OCEAEEALXI(ZSESY) 4,860,840
[ 4,521,712
= 339,128
NSAotsHE2EHIXI& (2X) 3,161,600 13,786,578 10,624,978
= 2,432,000




A= OOy E== M OrOIMIAH X2 1t
BH: ANBOISSAUDS
&t otsde - =Xsd (SH &)
AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
= 729,600
308 AXIHHMSOIH 3,161,600 13,786,578 N 10,624,978
s 2,432,000
& 729,600
01 AXISHHEAEEXZ 3,161,600 13,786,578 A10,624,978
DX otsdED | 2298l X (ZEEH]) 3,026,400
= 2,328,000
& 698,400
OX S OotsSHE FII2I9HIXJA (ZESHI) 135,200
s 104,000
= 31,200
K OtsSHIE QA X (EX) 13,427,700 0 13,427,700
= 10,329,000
& 3,098,700
308 AXISHHSOIA 13,427,700 0 13,427,700
= 10,329,000
& 3,098,700
01 AXISHNEAEEXZ 13,427,700 0 13,427,700
XG0S MBI HHI X (D EEH]) 13,427,700
rag 10,329,000
T 3,098,700
SHEXNHO0tSHEFIHAIA 356,616 347,100 9,516
= 274,320
= 82,296
308 AXIHHSOIA 356,616 347,100 9,516
s 274,320
& 82,296
01 AXISHNEAEXZ 356,616 347,100 9,516
(S4SX80ISHEZIIN Y (RES
o) 241,800
g 186,000
T 55,800
OEQSIXNAOISHE IR (REEY) 114,816
Fay 83,320
= 26,496
KNS OotsHESZINEEIXIA 221,000 214,500 6,500
= 170,000
& 51,000
403 MIXISHHSK=20|H 221,000 214,500 6,500
s 170,000
T 51,000
01 ARS8 X 221,000 214,500 6,500




A= OIldeE== £AM : OFOIAI&HXI 2 1t
BH: ANBOISSAUDS
tels ofsdEY - SXNEH (SH9 H2)
AR RA - ZH - E9I(E) - HRMY - BYS Ol &t e B2
BRENEREEE TR C RS
oEEY) 117,000
Fas 90,000
L= 27,000
CIXISG Ot S M SN AHI X2 (OHTAIE ) (2
£52) 104,000
s 80,000
s 24,000
KNEOISHEAI SR RAH2SH 202,000 175,000 27,000
s 52,424
= 149,576
307 QI2Hol M 202,000 175,000 27,000
s 52,424
L= 149,576
11 ARI=EXAIEE X 202,000 175,000 27,000
OXS0ISHEHASXNJAH2I(ASEEY) 202,000
s 52,424
= 149,576
XS otsHE 2D X2 (KHA) 2,120,450 1,142,944 977,506
307 QI2HO| M 109,360 109,360 0
11 A S XA E X 109,360 109,360 0
OX S OotsHEHEA AL XA 109,360
308 REXIHMSOIH 2,011,090 1,033,584 977,506
01 AXIEHELAEXS 2,011,090 1,033,584 977,506
PN 10l R==RI S Relala | E=W) DAL 1,420,210
XIS 0tsHEHE A KIJ 590,880
Ots=2XI& 117,040,032 125,583, 143 A8,543,111
= 107,412,866
= 9,627,166
308 KXISHMSOIH 117,040,032 125,583,143 28,543,111
= 107,412,866
= 9,627,166
01 AXIEH B LAEXS 117,040,032 125,583, 143 A8,543,111
Oots=E280X= 117,040,032
= 107,412,866
L= 9,627,166
NG otsEs2 Al S 2,534,387 2,208,648 325,739
= 1,715,959
T 818,428
otsdelsd 6,000 6,000
201 23| 6,000 6,000
01 AFS2teltl 6,000 6,000
Ll et==2H] 3,000




A= O == £AM : OFOIAI&HXI 2 1t
M AFOI=s=SHLES
e NS 0sE2sxdclsd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
O0t=de|SdH R+ 3,000
L2d=g 3,000
OBLYET A ZEHA = LHHIS 3,000
OISESAII 222G X2 (=Y]) 2,062,190 1,853,476 208,714
= 1,583,664
& 478,526
308 AEXISHMSOIH 2,062,190 1,853,476 208,714
= 1,583,664
& 478,526
01 AXIEHEFLAExS 2,062,190 1,853,476 208,714
[(OtsE2sd=2) | 2292 2,062,190
= 1,583,664
T 478,526
OlSESHEII|IA2 S XA (ZHI) 206,059 205,672 387
307 gIzHol 40,000 40,000 0
M ARRI=SXAIEE X 40,000 40,000 0
(IOt SHTHON S L S XIAFS XA 40,000
308 RXIHMSOIH 166,059 165,672 387
01 AXIEHZAEXS 166,059 165,672 387
JOtSESHE 2D |21 AHH|L S AR 166,059
HEAeX2E2G X 151,870 149,500 2,370
= 75,935
T 75,935
308 AXIHMSOIH 151,870 149,500 2,370
= 75,935
& 75,935
01 XN BAELS 151,870 149,500 2,370
ONEAeN2E2F X2 151,870
= 75,935
& 75,935
OISESHZI A s 8,268 0 8,268
= 6,360
= 1,908
403 XX SHHMSK=01A 8,268 0 8,268
= 6,360
T 1,908
01 RIS AH2E £ 8,268 0 8,268
OtsEsd2I|20|Is2 8,268
= 6,360
& 1,908
OtSSIMEL S| 22 HSIAS 100,000 0 100,000
= 50,000




A= O == £AM : OFOIAI&HXI 2 1t
M AFOI=s=SHLES
e NS 0sE2sxdclsd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
& 50,000
307 gI2Hol M 100,000 0 100,000
= 50,000
& 50,000
11 Al =XAMEES 100,000 0 100,000
Ootsstiid ozl 2as 100,000
= 50,000
& 50,000
OlsSMEAELALINEXR 8,920,539 8,156,890 763,649
= 1,281,907
s 1,413,760
| 1,595,200
& 4,629,672
OlS=XNAEIISES 511,651 461,629 50,022
| 393,578
& 118,073
403 XIS MSAHEZ01A 511,651 461,629 50,022
| 393,578
& 118,073
01 XISt AH22 £ 511,651 461,629 50,022
Oots=XAIEI s 511,651
| 393,578
& 118,073
LESOtsHE XA 116,249 116,249 0
= 103,005
& 13,244
308 AXIHMSO0I& 116,249 116,249 0
= 103,005
& 13,244
01 AXIEHBLEES 116,249 116,249 0
2ES0tsXHE X 116,249
= 103,005
& 13,244
ESits15E2I XA 566,512 506,083 60,429
= 390,698
& 175,814
308 REXIHMSOIH 566,512 506,083 60,429
= 390,698
& 175,814
01 XN BAELS 566,512 506,083 60,429
I2Es0ts185E52IGXE 566,512
= 390,698
& 175,814




A= ol dEs= SA ¢ OOIMI& X2 1t
HH: HEBOISERHYES
SRl OISHUEAIEL YIS (St &)
A= - BA - 3H - SA(SAH) - NIRAY - BES Off &4 oﬁg% BlunsZ
StHulcHOtSEEDIISE2Z 13,000 0 13,000
= 10,000
== 3,000
403 AXIEMSA=01d 13,000 0 13,000
= 10,000
[ 3,000
01 MXIHHA 22 13,000 0 13,000
CstiiuiciotsaEE I Is22 13,000
= 10,000
= 3,000
stiilioliotsae=2g 962,955 865,416 97,539
= 664,104
=S 298,851
308 AHXIEMSOIH 962,955 865,416 97,539
= 664,104
< 298,851
01 HHHBAEES 962,955 865,416 97,539
D&iIlciotsad e 2 962,955
= 664,104
= 298,851
d20tsE2SHIXI&E 54,000 108,000 254,000
= 37,800
= 16,200
308 XtXIEMSO0IH 54,000 108,000 254,000
= 37,800
s 16,200
01 HXHH B E2ES 54,000 108,000 A54,000
OX20ts2SHIXI 54,000
= 37,800
[ 16,200
OlSE372HIXZ 13,000 12,000 1,000
= 9,100
= 3,900
308 AHXIHMSO0IA 13,000 12,000 1,000
= 9,100
= 3,900
01 IXHMBLEXS 13,000 12,000 1,000
otsEs+dHIX= 13,000
= 9,100
== 3,900
OlS2SHI AT 1,519,792 1,068,034 451,758
[ 1,413,760
= 106,032




A= 00l Eds= SA ¢ OFOIMI&XI& 1t
M AAMBIOISRELES
Hel: OISMEALELY LIS (St &)
U RA B O9I(S) - MRAY - BAS ofl &t A HIDSZ
308 XXM SOl 1,519,792 1,068,034 451,758
= 1,413,760
< 106,032
01 XN BSELS 1,519,792 1,068,034 451,758
(OISESHERASH(RSSY) 1,619,792
fas 1,413,760
< 106,032
ANEOtSAEFH 3,676,263 3,733,131 156,868
201 2Bt ] 12,600 21,400 28,800
01 Al 2telHl 12,600 21,400 8,800
U=g=¢ 12,600
OMISXAIESHS BRI A+ 0] 12,600
307 2I2to1 68,000 68,000
10 ARISTAIEHE2SHEX 20,000 20,000
OotsESXSAE2E XA 20,000
1 ARRIEXIASEE 48,000 48,000 0
LOtSSAA L2 8L SAN S S22 48,000
308 XXM SOIA 3,595,663 3,643,731 48,088
01 AX N B ELES 3,595,663 3,643,731 148,088
LotSESAIE2EXSH 2,621,000
Ossdaitd2g e 75,275
O2ANESALE2EXH 351,000
LIOtS = RIAIE QI AHI=IHRI & 527,088
LOtSS A E dHd X2 5,940
Hotssttiz 88 A~ XHKI2 15,360
LLotSINHEXH 1,356,117 1,038,066 318,051
2l 1,201,622
< 154,495
308 XXM SOIA 1,356,117 1,038,066 318,051
) 1,201,622
< 154,495
01 AXHH B ELES 1,356,117 1,038,066 318,051
LAOtSIHERIR 1,356,117
) 1,201,622
< 154,49
LU YOtSESHIXIZ 96,000 6,000 90,000
= 67,200
< 28,800
308 AXIHSOIA 96,000 6,000 90,000
= 67,200
< 28,800
01 XN BSEES 96,000 6,000 90,000
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FEHEOLFHSNA(LER) 227,482 218,703 8,779
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A= OOy E== 2N 0 eIt =s
U ol dIET
SE RCIEEEIEEES (crol: m2)
AR RA BB B(S) - MBAY - B O &kt A tImE=T
J| 256,421
T 74,581
308 AXISHMSOIN 331,002 300,235 30,767
J| 256,421
T 74,581
01 AXISHNEAERZ 331,002 300,235 30,767
COSOHDHTIIGH KX RAIE 2SS K& 198,240
| 164,646
= 33,594
COSOHOHIIHAEA2I XA 132,762
| N,775
& 40,987
A 0HOR I oH RF 2 =X 49,278 42,850 6,428
J| 43,664
T 5,614
308 AXISHMSOIN 49,278 42,850 6,428
| 43,664
= 5,614
01 AXISHNEZAELRZ 49,278 42,850 6,428
(14 OHOH I o AF 2 2= K| & 49,278
J| 43,664
& 5,614
SOHOHE Z2 XIS AKX 100,105 86,298 13,807
J| 79,212
T 20,893
308 AXISHMSOIN 100,105 86,298 13,807
J| 79,212
= 20,893
01 AIXISHNHBAEES 100,105 86,298 13,807
COJSOHHE 2 XS E XA AIE 23| 71,333
| 53,718
== 17,615
COJS 0O Z2 XIS & KR0S X & 28,772
| 25,494
& 3,278
ASOHOHIIGH KX RAIED | s22 3,120 3,250 A130
J| 2,400
= 720
403 REXISHHS K201 3,120 3,250 A130
| 2,400
== 720
01 AEXI XA 22X 3,120 3,250 A130
CIAOHOHTISH AR R A& D | SE2Z 3,120




A= 0| == 2N ¢ -t sHs
R ENVIEp[E=rte
chel: OlEAER (choy: @2
AR . 2N B 09 (3H) - NRAY - B2 ofl b dE= RS2
d=- 74358 F 45 . 0 &t 52
J| 2,400
= 720
AOHOHILIGHOISHEAEHSS AR EEH 2SI XIF 125,528 124,000 1,528
J| 62,764
= 62,764
307 S1ZH0| & 125,528 124,000 1,528
J| 62,764
& 62,764
10 AIZISAIAIEBHE2IHIEX 125,528 124,000 1,528
(X OHOHT|HOtSE AEHSE XM EHS2H X
2 125,528
J| 62,764
& 62,764
bl |l 2H K& 1,646,793 1,627,660 19,133
J| 1,152,755
= 494,038
307 S1ZH0| & 1,646,793 1,627,660 19,133
J| 1,152,755
& 494,038
10 AIZISAIAIEBEE2IHIEX 1,646,793 1,627,660 19,133
CA=Eoligie M 29X 1,646,793
J| 1,152,755
& 494,038
AEANNALSASHESEHEREUHIS XA 78,000 78,400 A400
J| 54,600
< 23,400
307 21Z2H0| ™ 78,000 78,000 0
J| 54,600
o= 23,400
11 ASIS KA EX 78,000 78,000 0
D@ =olidte ) A e T =S SIS X3 78,000
J| 54,600
& 23,400
SNEATNANESAIESE XA 811,221 752,617 58,604
J| 381,571
= 429,650
307 21Z2t0| ™ 811,221 752,617 58,604
J| 381,571
< 429,650
10 AISISAIAIEHAESIHIEX 801,221 742,617 58,604
(OISE AU EH2E AL 555,808
J| 230,855
= 324,953




A oot

ZSéHEE

aR=lan]

t

T (sl 28
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH SEE Hnz=2
= T s = T <7 - Ofl AkeH =

OSUA2g XA 245,413
bl 140,716
[ 104,697

11 AEXAMGER 10,000 10,000 0
O8ZALISAILEATR RS 10,000
bl 10,000

AZANGAX 222 IH(Z) 14,538 14,538 0
7l 10,177
(= 4,361

307 QI2+0|& 14,538 14,538 0
bl 10,177
[=3 4,361

11 AMBIEXAMEER 14,538 14,538 0
OAZANNAX 2 2T2 J#2H(T) 14,538
bl 10,177
[ 4,361

AZAHNGHAX 22T 2 (AR) 57,425 57,425 0
bl 50,883
(= 6,542

308 XIXISHHISOIE 57,425 57,425 0
Jl 50,883
(= 6,542

01 MHXSHHBAEES 57,425 57,425 0
O8ZATHAXZISEIZ2 IS (AR) 57,425
bl 50,883
= 6,542

AZaMGASATR 999,367 948,055 51,312
bl 669,374
[ 329,993

308 XIXISHRISOIA 999,367 948,055 51,312
bl 669,374
(= 329,993

01 MHXSHHBIAEES 999,367 48,055 51,312
O8=8348A29 N3 728,940
bl 487,032
= 241,908
OIS ZAMNSARARA 270,427
bl 182,342
(= 88,085

SHEZATICHIICI 2HI2HHHIXI& 45,173 52,946 NT,773
bl 40,027
(= 5,146

308 RIXISHHISOIE 45,173 52,946 AT, 773




A= O == A HEISE=
A HEIIEEHA
el odAesd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
| 40,027
= 5,146
01 AXIEHZLAEXS 45,173 52,946 AT, 773
O =T oi A 2K 44,044
| 39,027
& 5,017
O ZS 0o X2t EHIXI& 1,129
| 1,000
& 129
Otsd=Z5YX 6,100 6,100 0
307 QI2HO| M 6,100 6,100
1 ASI=SXAIEEE 6,100 6,100
OXOHEHORIZ2X = XA 6,100
NEZGI M REXN S EZ2H2Y 16,960 16,960 0
| 15,028
T 1,932
308 AXIHMSOIH 16,960 16,960 0
| 15,028
& 1,932
01 XN BAELS 16,960 16,960 0
[(PDIEZESEII A UEXIZEZ2 02 16,960
| 15,028
& 1,932
HEISHESHBHIE 2SN 859,116 803,214 55,902
| 360,402
= 498,714
307 QI2Hol M 859,116 803,214 55,902
| 360,402
T 498,714
10 AlRISEXAEHE2EHIEX 859,116 803,214 55,902
O &2l =83H362 S XA 859,116
| 360,402
& 498,714
A2 SMSH3BHIE I ISES 20,000 12,600 7,400
| 10,000
= 10,000
402 QI2ERH=0I N 20,000 12,600 7,400
| 10,000
& 10,000
02 QIZEXHE AL B X (01 & THEA) 20,000 12,600 7,400
[M366HIE I ISEZ 20,000
| 10,000
& 10,000




ooloig == SA olaIIERS
SECRN RSB E=p
7l odE5sd (2l &R)
A= RA - B C(BH) - HRAY - BSS Ofl &4 Oﬁ]gﬁ HDZS2
ZAUHALS TN ALY 105,323 98,5% 6,728
| 57,652
= 47,671
307 SI2H0I & 105,323 98,5% 6,728
| 57,652
[ 47,671
IREETINEEES 105,323 98,5% 6,728
(=2 WHO A FH R AL 2SS X 105,323
pJ 57,652
& 47,671
AT GHOI A = H IR AL (RH) 1,954 1,954 0
pJ 1,954
402 BIZEXHZ0I 1,954 1,954 0
pJ 1,954
02 RIZHRHE A E E (01X THR!) 1,954 1,954 0
OZALHHEEAN AN ES2 1,954
pJ 1,954
HAEZALHAES X 169,511 164,923 4,568
307 QI2H0I A 157,511 154,423 3,088
11 AlBI = XA B X 157,511 154,423 3,088
(101421 38 813662 S LI A 2 H X2 84,854
OZE0/200i 84 ED|s2 3 72,657
308 RXIEHHISOIH 12,000 10,500 1,500
01 XX SHIZAEES 12,000 10,500 1,500
(RIZIHH2Y 12,000
IIEZALHAESA LSRN 441,255 406,824 34,431
pJ 381,629
= 50,626
308 XHXIEHHISOI® 441,255 406,824 34,431
Il 381,629
= 50,626
01 XX SHHZAEES 441,255 406,824 34,431
(DIEZAMHNESAL2I N 382,001
p 323,051
< 59,040
(N =22 S AL ALK SIS
MH|HIXI2 24,022
Il 24,022
mplEsE= Nl eSt=Et=E] 5,142
pJ 4,556
& 586
(oS = NIGH RIS AR X 22 30,000
pJ 30,000




a2 ooloia =R SN oEIIERED
R ENVIEp[E=rte
=t g sd EEED
A2 .24 ZE . S2(E) - NIRAY - BES ol b e HlmS2
N =ZLHUINAESAEI S22 5,525 4,030 1,495
| 4,250
= 1,275
403 XIS HMSKHE0IA 5,525 4,030 1,495
J| 4,250
= 1,275
01 X SHH =2 E xR 5,525 4,030 1,495
[(PDIEZS0IHANESAIEIISsES 5,525
| 4,250
& 1,275
IS ZH Ol 2HI K& (<) 14,957 14,957 0
| 10,470
= 4,487
307 212+01 A 14,957 14,957 0
| 10,470
= 4,487
11 Al SXAMEES 14,957 14,957 0
oI ZES oA S X2 (%) 14,957
J| 10,470
= 4,487
I ZHN X SHI X2 (XI) 15,019 15,019 0
| 13,310
& 1,709
308 AEXIHM SO 15,019 15,019 0
| 13,310
& 1,709
01 IXSHHBAERS 15,019 15,019 0
(DI ZSTIH AL Z IR (AlZ2) 15,019
| 13,310
= 1,709
IS ZHINAX 22T 2 ] (XI) 37,070 37,070 0
| 32,847
& 4,223
308 AXIEHMSOIN 37,070 37,070 0
| 32,847
& 4,223
01 AXSHHBLERS 37,070 37,070 0
(DI ZLIi XX Ss 82X 1A 37,070
| 32,847
= 4,223
IHEZHLAHAREIR 1,181,770 1,141,647 40,123
J| 785,667
& 3%,103




A= O == A HEISE=
A HEIIEEHA
el odAesd (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
308 REXISHMSOIH 1,181,770 1,141,647 40,123
| 785,667
= 3%, 103
01 AXIEHELAEXS 1,181,770 1,141,647 40,123
(O ZSE4EAREXA 834,230
| 541,745
& 292,485
OsSeagLr2g X 347,540
| 243,922
& 103,618
SHIOIX A A2AXRA 16,200 21,600 25,400
308 RXIHMSOIH 16,200 21,600 25,400
01 AXIEHZLAExS 16,200 21,600 A5,400
O=HI0IX2AHA2AXNA 16,200
SN N=F 28,000 28,000 0
= 14,000
& 14,000
307 gIzHol 28,000 28,000 0
= 14,000
& 14,000
1 ASI=SXAIEEES 28,000 28,000 0
OstuliMeldold = 28,000
= 14,000
= 14,000
Zo0tsy AU HRIA NS 40,000 40,000 0
= 20,000
& 20,000
307 QI2Hol ™ 40,000 40,000 0
= 20,000
& 20,000
11 AL =SXAMSES 40,000 40,000 0
OOt AELA NS 40,000
= 20,000
& 20,000
B0 OPDI=EF Y NERE 97,620 90, 152 1,468
= 48,810
& 48,810
307 QI2Ho1 M 97,620 96,152 1,468
= 48,810
& 48,810
1 ARRI=SXNAIEE X 97,620 9%, 152 1,468
OYe=01Z 0D I=E280YusS2Y 97,620
= 48,810




AR o0l =R SN HEIIEES Y
I IS
&9 ddessd (2l &R)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
A T < - Off &hoH ==
| & 48,810
OXESHRSsT2 2R 85,000 0 85,000
2 42,500
== 42,500
307 QI2tol & 85,000 0 85,000
2 42,500
< 42,500
11 ALBISRIAFIE X 85,000 0 85,000
OCXeLEHR S Z2 J#X | 85,000
2 42,500
= 42,500
ALBIIELE T 44,747,665 40,874,742 3,872,923
2 855,900
7 1,700,000
Il 35,247,590
== 6,944,175
=AU 741,390 642,018 99,372
2 570,300
< 171,090
308 XHXIEHHISOI & 741,390 642,018 9,372
2 570,300
= 171,090
01 RXISRBAEES 741,390 642,018 99,372
mbJES- =N 741,390
2 570,300
= 171,090
AAINF USSR ME 2 5,951,075 5,763,940 187,135
BJ 4,577,750
== 1,373,325
308 XIXIEHHISOI® 5,951,075 5,763,940 187,135
Il 4,577,750
< 1,373,325
01 RXISRBAEES 5,951,075 5,763,940 187,13
AL H 2SS X R MEI SE AHIAX
2 5,951,075
pJ 4,577,750
= 1,373,325
IIEHE 2 2,210,000 4,415,200 22,205,200
2 1,700,000
== 510,000
403 RIXISHHIS K01 2,210,000 4,415,200 2,205,200
bl 1,700,000
< 510,000




A= O == A 1 HAIISESE
M LIS
el HLEIIERSXY (Gt H2)
Al .2 - HE . CI-_?.|(§D:") c NIEAIY - HA S Of| AFOH ST Hnz=2
STrTATSRtE T < B Ofl &k o =e
01 RXIEH 2L 2,210,000 4,415,200 A2,205,200
= HEHE(R %EHI) 2,210,000
= 1,700,000
= 510,000
SR RIIENEHLFHISKIA 32,499,400 27,141,600 5,357,800
J| 30,232,000
= 2,267,400
308 AXIHMISO0I & 32,499,400 27,141,600 5,357,800
J| 30,232,000
< 2,267,400
01 AXIEHZAEES 32,499,400 27,141,600 5,357,800
e REINFUHEHL=SHISKIE 32,499,400
J| 30,232,000
< 2,267,400
SR RIIESXNAELARAE A2 X 57,200 48,548 8,652
J| 44,000
= 13,200
308 AXIHMSO0IH 57,200 48,548 8,652
J| 44,000
= 13,200
01 AXIEHBLEES 57,200 48,548 8,652
OstR2NEEXNAIL L AXAE A2 XA 57,200
J| 44,000
= 13,200
SHREIIE XA (XA 1,453,870 1,299,540 154,330
308 RXIHMSOIH 1,453,870 1,299,540 154,330
01 XN ExS 1,453,870 1,299,540 154,330
(BRI sH=H| 294,520
OS2 2IEXE 623,130
OFHESHE 2 2 =H|X& 536,220
SIREEINESIANEIISES 4,550 74,360 69,810
J| 3,500
< 1,050
403 XX SHMSKHE01 A 4,550 74,360 69,810
J| 3,500
= 1,050
01 X SH =2 ER 4,550 74,360 69,810
[JetR2IIE=NAEIIsES 4,550
J| 3,500
= 1,050
SR RIIESXAIZ00IESSMEIA KR 83,514 105,315 21,801
J| 74,000




a2 ooloia =R SA ol EsE
LRV BT
Chel: ALBIIER2STH EER=E)
4224 B G9(SH) - AIRAY - BES of v e HIDE2
< 9,514
308 AtXIEHMSOIE 83,514 106,315 A21,801
Il 74,000
= 9,514
01 XN B EES 83,514 105,315 /21,801
OStRE2ESXAEL 200l SSAHI A
A& 83,514
Jl 74,000
=S 9,514
SIRIIIESXALHI XA SR RA S Z | 23,660 9.120 14,540
Jl 23,660
308 AHXIHMSO0IA 23,660 9,120 14,540
Jl 23,660
01 HASHHBSEEXS 23,660 9,120 14,540
O RENESXNAZXAIS SRR A
&Hl 23,660
Jl 23,660
SSUEIIEEF AN 58,780 58,800 A0
Jl 58,780
308 XXM SOIA 58,780 58,800 A0
Jl 58,780
01 HAHHBSEXRS 58,780 58,800 A0
OSSMENDESHMNYLUF=AXS 58,780
7l 58,780
SR RIIES XA X (KA 476,676 432,831 43,845
307 @120l & 45,000 45,000 0
11 AMISXAIEEX 45,000 45,000 0
LR ENESAA LA NSNS 15,000
LetR2IES AL UL NARISSEZ 1]
XA 30,000
308 AXIHSOIA 431,676 387,831 43,845
01 HRESHH B EES 431,676 387,831 43,845
LIRSS AESA =S 18,648
Ut R2HESXAIEX 2 413,028
HAEBRE A 2SHIXR 180,600 249,400 68,800
7l 168,000
= 12,600
308 XX HMSO0IA 180,600 249,400 68,800
Jl 168,000
s 12,600
01 XN BSELES 180,600 249,400 68,800
OEAESR2NEH2=H XA 180,600
Jl 168,000




A= ool EgdsE= 2A  HEIIEE=Y
33 H4IrE3H
el HLEIIERSXY (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH e Hnz=2
Smo AR e T < B Ofl &k ==
| & 12,600
E=ESRIE DN DNEENT EIDN 85,670 44,070 41,600
2l 65,900
& 19,770
308 ARISHMSOIE 85,670 44,070 41,600
2l 65,900
= 19,770
01 IXHMBdE2x= 85,670 44,070 41,600
IE=ENS ISP G=INE N PPN 85,670
] 65,900
< 19,770
IIEESRIBI IS H ALY 550,000 590,000 A40,000
308 AXIHSOIA 550,000 590,000 40,000
N S 2S0USBE XS AN 550,000 590,000 40,000
oI=EaEISI I gsgAd 550,000
HAHF R0 SHIXRAIE A 371,280 0 371,280
= 285,600
= 85,680
308 AR EHHSOIE 371,280 0 371,280
= 285,600
= 85,680
01 MASHBSExRS 371,280 0 371,280
LE2EFE0ISSSHIXZASAE 371,280
= 285,600
< 85,680
CrE2stE 7,420,642 6,693,221 727,421
) 4,222,059
= 3,198,583
AL eEsAtel 2 d 7,420,642 6,693,221 727,421
2l 4,222,059
< 3,198,583
CH2 3OS X1 (XEA) 1,645,549 1,447,005 198,544
201 LetEay| 27,000 27,000 0
01 Al2telsl 27,000 27,000 0
eS| 24,000
Oottzapisidaeiizmeldet=u Y
Efdis 10,000
OA=QUFULLHISESNHE 14,000
eg=<¢ 3,000
OU2IEXZE A3 AR - 3,000
307 212+0I1& 778,000 642,000 136,000
05 2IZt?&=2 490,000 0 490,000
OZ4ECIELH2Y 320,000




=N

HgIISsES

ot

Hm: C12aEm
CHOl: AHABISBIAISIEY (chol @)
4224 B G9I(E0) - AIRAY - B of v e HIDE2
OSSR AEAIE XA 170,000
1 ARISAMSEX 288,000 642,000 354,000
LIC23tEAA X2l =[S 2 56,000
UCE2EIHA 01 S A TS 32,000
(12 201210{ 50| S AL X2 HE ALY
(2el) 70,000
OZS0/80HE82 22 E A 50,000
LAAIcIdstitE =S 80,000
308 AXIHMSOIA 840,549 778,005 62,544
01 X HHBAEXES 840,549 778,005 62,544
OZE0/2HE0ISHAHZAIE K EE AL
(F2IEN) 398,931
OUEsbtEAstsgsted oz 183 172,944
OU2IES XA S A= 217,224
OZEE0/2HE8nsAA 7,050
=23 S0t AL 25,200
OMAZ0IH 2228023 L E 19,200
OIoHoI=HE2S A2 ST 660,318 627,201 33,117
Jl 549,211
== 11,107
308 AHXIEMSOIE 660,318 627,201 33,117
) 549,211
< 11,107
01 HAHHBSEEXS 660,318 627,201 33,117
OZSLoH0I=Hd2SAME2S A2 660,318
Il 549,211
= 111,107
ZHUHOIFHE ES Al A 22| 8,865 8,865 0
J| 7,855
=S 1,010
403 X SHHMSAH=01H 8.865 8,865 0
J| 7,8%
< 1,010
01 AXIHHA=E2 8,865 8,865 0
ZHUN0IFHE 2 AL AN 22| 8,865
Jl 7,8%
= 1,010
CIE23ItES2NSAIS2F (AHH) 50,760 60,840 10,080
308 XXM SOIH 50,760 60,840 10,080
01 RSN B EES 50,760 60,840 10,080
OUEstEL 2R A S 50,760
2 EXJHE 29 484,348 471,033 13,315
Jl 369,760




a2 ooloia =R SA ol EsE
ma: (s
CHOl: AHABISBIAISIEY (chol @)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
< 124,588
307 gl2tol & 47,600 46,000 1,600
Il 23,800
= 23,800
11 ARRIS XA E X 47,600 46,000 1,600
OHEdEH=2Y 47,600
7l 23,800
= 23,800
308 XXM SO0l 436,748 425,033 11,715
Jl 335,960
< 100,788
01 XN B2 LS 436,748 425,033 11,715
Ot=biEX2 e 29 436,748
Jl 335,960
== 100,788
CHESIESdatAE 4,296,802 4,083,377 243,425
7l 3,305,233
= 991,569
308 XtXIEMSO0IE 4,296,802 4,083,377 243,425
Jl 3,305,233
s 991,569
01 HXEHH B E2ES 4,296,802 4,083,377 243,425
OUEstESdaaeg 4,296,802
Jl 3,305,233
[ 991,569
QU= I XIR A (KEAI) 274,000 24,900 249,100
207 ARl 100,000 0 100,000
01 A S| 100,000 0 100,000
O3S E=0FRUS IS LEEANS
A 100,000
308 XXM SOIA 174,000 24,900 149,100
01 XN B2 LS 174,000 24,900 149,100
OX S St =A &= KA 90,000
A= XSSt A2 20l SAH 84,000
HYRIHH(HEIIES#=DL) 65,360 65,360 0
Jl=3H 65,360 65,360 0
Jl=3H] 65,360 65,360 0
201 er23| 24,960 24,960 0
01 At2tltl 24,960 24,960 0
eS| 9,600
OMNRESHAZHESEIYS 9,600
W= 15,360




D oIgdE= A oot

AESE VTR

SHRA(ZA) - HEAMNS - BES

MEE
Ofl &k2h

15,360

36,800

36,800

36,800
36,800

36,800

3,600

3,600

3,600
3,600

3,600




